Dividing Square Roots

Name: Score:

Divide the following square roots. Answer in decimals when needed.

Vo e = | Vise + & = | ]
Vsie = Ao = | Vo =1 = ]
Voo =5 = [ Vs = Vaw = |
Vi s e o= [ Vst o= [
Vs =m0 = [ Vi = NE o= [
Viss s Vas = [ Vo o+ =]
Vao =3 = | Vioo = V& = |
Vis e = | Vst o+ = | ]
Vs = es = || Vi o= ]
Vis +er = | Vo =+ = |
Voo + & o= [ Vi + Ve =
Vis =+ = | Va ++ = |
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Answers

Divide the following square roots. Answer in decimals when needed.

Vo ++ig = [075) Vase = NE = [ 8 )
Vis =5 = [ 8] Vs =T = [ 7]
Voo + V35 = | 6 V35 + o = [0.25)
Vi =i = [ 9] Vst =5 = [ 3]
Vi + oo = 05 Vigh =7 = [ 6]
Visi = m = [ 4] Vo =35 = [06)
Vao = N7 = [ 10 Vioo = Vi = [ 5]
Vie = Ver = [05 ] Var s Vi = (15 ]
Vi« e = [02] Vi +vi = (05
Vi + e = [075) Vo Vi o= [1s
Voo = & = [ 15 V36 + e = [075)
Vis + V25 = |08 Ja + Vi = [4




